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Sample Paper – 2009
Class – X

Subject – Mathematics(Code No.   30/1)
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· Please check that this question paper contains 03 printed pages.

· Code number given on the right 'hand side of the question paper should be written on 
the title page of the answer-book by the candidate.

· Please check that this question paper contains 30 questions.

· Please write down the serial number of the question before attempting it.

Time allowed: 3 hours





      Maximum Marks: 80

General Instructions:
1. 
All questions are compulsory.

2. 
The question paper consist of 30 questions divided into three sections A, B, C and D. Section A comprises of 10 questions of one mark each, section B comprises of 5 questions of two marks each , section C comprises of 10 questions of three marks each and section D comprises of 5 questions of six marks each.

3. 
All questions in Section A are to be answered in one word, one sentence or as per the exact requirement of the question.

4. 
There is no overall choice. However, internal choice has been provided in 1 question of two marks each, 3 questions of three marks each and 2 questions of six marks each. You have to attempt only one of the alternatives in all such questions.

5.
Use of calculators is not permitted. You may ask for mathematical tables, if required.

SECTION – A

1. Explain the rational of the following algorithm and hence find the HCF and LCM of the numbers 144 and 160.
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144  ,   160 

72   ,  80 

36   ,  40

18   ,  20

9   ,   10


2.
Read the zeroes from the following graph:

3.
For what value of k the following system of equations has no solution?
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4.
Find the value of m for which the quadratic equation: 
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 has equal roots.

5.
Find the number of terms in the following A P: 
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18,15,13,...,47.
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6.
If two similar triangles PQR and LMN, 
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 Find the ratio of the areas of the triangles.

7. Find the value of: 
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8.
The length of a wire is 66 m. Find, how many circles of circumference 1.32 cm can be made from this wire.

9.
If 
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sin3cos6, where 3 and 6

q=q-qq-°

 are acute angles, find the value of (.

10.
The coordinates of A and B are (1  ,  2) and (2  ,  3). Find the coordinates of midpoint of AB.
SECTION – B 


11.
Show that 
[image: image8.wmf]83

+

 is irrational.
OR



Using Euclid's division algorithm, find the HCF of 954 and 1638.

12.
Obtain all other zeroes of the polynomial x3 + 4x2 – 25x – 28,if one of its zeroes is 4.

13.
Without using trigonometric tables, find the value of (sin 72° + cos18°)(sin 72° – cos 18°).

14.
Check whether the points A (1  , 5), B(– 4, 0) and C(3, – 1) are collinear.
15.
Find the length of the tangent drawn from a point whose distance from the centre of the circle of radius 7 cm is 25 cm.
SECTION – C

16.
Solve the following equations graphically: 3x – 2y = 8, x + 7y = 18

Also find the coordinates of the points where the line 3x – 2y = 8 meets the axis of y. The length of the hypotenuse of a right-angled triangle exceeds the length of the base by 2 cm and exceeds twice the length of the altitude by 1 cm. Find the lengths of each side of the triangle.

17.
The length of the hypotenuse of a right-angled triangle exceeds the length of the' base by       2 cm and exceeds twice the length of the altitude by 1 cm. Find the lengths of each side of the triangle.

OR

Find the value of k for which the equation x2 – 2kx + 7k – 12 = 0 has real and equal roots.

18. Prove that: 
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19. The line joining the points (2, 3) and (5, – 1) is trisected. Find the coordinates of the points of trisection.

OR

Find the area of the triangle whose vertices are A(– 4, 1), B (7, – 3) and C(– 8, 0).
20. In the figure MBC is a right triangle, right angled at B. AD and CE are the two medians drawn from A and C respectively. If AC =5 cm and AD = 
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 find the length of CE. 
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21. Draw a circle of radius 2.5 cm. Take a point P outside the circle. Construct a pair of tangents from the point P to the circle without using the centre of the circle.
22.
A card is drawn at random from a pack of 52 playing cards. Find the probability that the card drawn is neither a queen nor a jack.
23.
Determine the common difference of the AP whose sum of m terms is
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OR

If the 4th term of an AP is twice the 8th term, prove that the 10th term is twice the 11th term.
24.
Show that the points A(l, 0), B(5, 3), C(2, 7) and D (– 2, 4) are the vertices of a parallelogram.
25.
Find the area of the shaded region in the figure common between the two quadrants of circles of radius 8 cm each.
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SECTION – D

26.
A pole 5 m high is fixed on the top of a tower. The angle of elevation of the top of the pole observed from a point O on the ground is 60( and the angle of depression of the point O from the top of the tower is 45(. Find the height of the tower. .

OR

The angle of elevation of a cloud from a point 60 m above a lake is 30° and the angle of depression of the reflection of the cloud in the lake is 60(. Find the height of the cloud above the lake.
27.
In a triangle if the square on one side is equal to the sum of the squares on the other two sides, prove that the angle opposite the first side is a right angle. 

Using the above theorem, find the length of the second diagonal of a rhombus whose side is 10 cm and one of the diagonals is 12 cm.
28.
A pool has a uniform cross-section. of radius 5 m and uniform depth 14 m. It is filled by a pipe which delivers water at the rate of 25 liters per second. Calculate in minutes, the time taken to fill the pool. If the pool is emptied in 29 minutes 10 seconds by another cylindrical pipe through which water flows at 2 m per second, calculate the radius of the pipe in cm.
29.
Survey regarding the heights (in cm) of 50 boys of a class was conducted and the following data was obtained.
	Height (in cm)
	140 –145
	145 –150
	150 –155
	155 –160
	160 –165
	165 –170
	170–175

	No. of boys
	12
	10
	8
	9
	6
	4
	1


30.
The distance between two places is 900 km. An ordinary express train takes 5 hours more than a superfast express train to cover this distance. If the speed of the superfast express train is 15 km/h more than that of the ordinary express train, find the speeds of the trains.

OR

By reduction of Re 1 per kg in the price of onions, Beena can buy one kg onions more for   Rs 56,  find the original price of the onions per kg.
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